
Calculus A Product, Quotient and Chain Rules Review  Name: 

1. Differentiate the function ݕ ൌ
௫మାସ௫ାଷ

√௫
. 

 

 

 

 

 

 

 

 

 

 

 

2. Find the equation of the tangent line to ݂ሺݔሻ ൌ ݔ ൅  at (1,2) ݔ√
 

 

 

   



3. Suppose that ݂ሺ2ሻ ൌ 3, ݂ᇱሺ2ሻ ൌ 2, ݃ሺ2ሻ ൌ െ1, and ݃ᇱሺ2ሻ ൌ െ2.  Find the 
following values. 

 

a. 
ௗ

ௗ௫
ሾ݂ሺݔሻ݃ሺݔሻሿ at ݔ ൌ 2 

 

 

 

 

b. 
ௗ

ௗ௫
ቂ
௙ሺ௫ሻ

௚ሺ௫ሻ
ቃ at ݔ ൌ 2 

 

 

 

 

c. 
ௗ

ௗ௫
ቂ
௚ሺ௫ሻ

௙ሺ௫ሻ
ቃ at ݔ ൌ 2 

 

 

 

4. If ݂ is a differentiable function, find an expression for the derivative of each 
of the following function. 

 

a. ݕ ൌ  ሻݔଶ݂ሺݔ
 

 

 

 

 

b. ݕ ൌ
௙ሺ௫ሻ

௫మ
 

 

 



5. Find the derivative of the following functions 

 

a. ݕ ൌ ሺݔଷ െ 1ሻଵ଴଴ 
 

 

 

 

 

b. ݕ ൌ cotଶ ሺsin  ሻߠ
 

 

 

 

 

c. ݂ሺݔሻ ൌ
ଵ

√௫మା௫ାଵ
య  

 

 

 

 

 

d. ݃ሺݐሻ ൌ ቀ
௧ିଶ

ଶ௧ାଵ
ቁ
ଽ
 

 

 

 

 

 

e. ݕ ൌ sin ሺcos ሺtan  ሻሻݔ
 

   



6. State the derivative of ݄ሺݔሻ ൌ ݂൫݃ሺݔሻ൯. 
 

 

7. A table of values for ݂, ݃, ݂ᇱ, and ݃ᇱis given below.  Use the information in 

#6 above to evaluate the following derivatives. 

 

 ݔ ݂ሺݔሻ  ݃ሺݔሻ  ݂ᇱሺݔሻ ݃ᇱሺݔሻ
1  3  2  4 6

2  1  8  5 7

3  7  2  7 9

 

a. If ݄ሺݔሻ ൌ ݂൫݃ሺݔሻ൯, find ݄ᇱሺ1ሻ 
 

 

b. If ܪሺݔሻ ൌ ݃൫݂ሺݔሻ൯, find ܪᇱሺ1ሻ 
 

 

8. If ݂ and ݃ are the functions whose graphs are shown below, let ݑሺݔሻ ൌ

݂൫݃ሺݔሻ൯, ሻݔሺݒ ൌ ݃൫݂ሺݔሻ൯, and ݓሺݔሻ ൌ ݃൫݃ሺݔሻ൯.  Find each derivative, if it 
exists.  If it does not exist, explain why.  Remember that the derivative of a 

function at a point is the slope of the tangent to the curve there. 

 

a. ݑᇱሺ1ሻ 
 
 
 

b. ݒᇱሺ1ሻ 
 
 
 

c. ݓᇱሺ1ሻ 
 



 

 

9. In the graph below, label ݂ሺݔሻ and ݂ᇱሺݔሻ appropriately. 
 

 
 

10. Give at least three specific points of evidence for your decision in 9 above. 

 

a. 

 

 

 

 

b. 

 

 

 

 

c. 

 

                  







































x

y


